
Y4 – Summer – Block 3 – Step 3 – Convert between analogue and digital times Answers

Question Answer
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He has the number of minutes as 3, because the minute hand is pointing to 3. But when 
the minute hand is pointing to 3, the time is 15 minutes past.
correct answer: 5:15 pm
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4:02 pm
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a) sometimes true
If the number of minutes in the original time is less than 10, then the number of 
minutes increases. Otherwise the number of minutes decreases.

b) sometimes true
If the original time is between 12:10 and 12:59, the number of hours will change to 1 
and so get smaller. Otherwise the number in the hours stays the same or increases.
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Y4 – Summer – Block 3 – Step 3 – Convert between analogue and digital times Answers (continued)

Question Answer
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possible answers:
1:02
1:03
1:20
1:23
1:30
1:32
2:01
2:03
2:10
2:13
2:30
2:03
3:01
3:02
3:10
3:12
3:20
3:21
10:23 
10:32
12:03
12:30 
There are 22 possible answers.
Each answer could be given as an am or a pm time.
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